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Siz questions may be answered.

Mathematical Tables may be obtained from the Superintendent

1. If a transversal cuts the sides AB, BC, ACof a triangle AB:
P Q. R respectively, prove that Ih
2.5 6B .

PB QC RA -

Pn?ve also that if a transversal cuts the sides AB, BC, CD, DA of "
quadrilateral ABCD in P, @, R, S respectively, then
AP BQ CR DS

P — 8 — e e —

40 marks )

2, Prove that the angle at which two curves eut is equal to the
angle at which their inverses cut at the corresponding point of intey.
section,

What is the inverse of (i) two parallel straight lines, (ii) two per-
pendicular straight lines (with respect to a centre of inversion not o
any of tle given lines)?

40 marks,]
3. Solve the equations
4
(i) sin™ g—l-sin“5 =sin™1;
o 3
(ii) tan™(z+1)+4-cot™(z—1) =sin™ z-+cos ’5 ‘
(40 marks.]
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4. In a triangle ABQ Prove tha

3= [T
adii of th foyp o S—a]~
L :i‘:m rove timl: i ‘“,thnt touel, the g
in pmpor » | - that the tl“lﬂng]e is l'ight 5‘[{(‘5 of o trinng]e are
ST “angled

5. Ina triangle the s

Mallest,
in A.P.. and the ap,
e &

el is 3

40 marks,]
angle js 450

i the tap
8qu; : Jehgents of the ang]
qQuare Incheg Fine the Jengths of%}f:
40 marks )

ar
Sidcs'

6. The Dbisector of t}a anglo |

: of a tyy
.nd the perpendicular to AKat g Mangle

ABC meets e 4t K

3 Meets |
tllc hjrulonlc mean bet“.een ;\B und AC“\‘_B at H. Prﬂ\'(} thﬂt I\H iS
Hence, o otherwise, proye ¢p
A 1
1cos;+~cos]}+}cosggl 1
P 2 q 2 r B + ; + x

where P, @ 7 ate the bisectors of the Angles A B ¢ respectively
[42 mal:ks.]

7. Prove that the Perpendien]

ar distance of ¢, point (2, ¥') from

Find the equations of the tw of the angles between s
straight 1es 32—y 310 qng Sr+12y—1=0 and show that they
:1re at right angles. .

[42 marks ]
8. Show that the quadr)

ateral whose vertices are 0, 1); (1.3 -
@4, 285 (1, —1) respectiv

ely is cyelic and find its area.

[42 marks,)

9. Show thai aLy219hy 19

circles, where A may have any valye
limiting points of the system.

Find the equat
coaxal circles.

represents a system of coaxal
» and find the coordinates of the

ion of the corresponding orthogonal system of

142 marks,]

10. Write down or find the equation of the tangent at the point

(z',y) on the parabola y?=daz. Hence find the equation of the
nol:mal at that point.

[ ; t P meets the axis at
is any point on a parabola and the r_nmmal at.
G: ﬁ;xl'zve {hlstt the locus of the middle point of PG is another parabola,

[42 marks.]
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